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Assignment 3 Basic Solution
(8%)
Part 1
For the sample Event Planning Form shown in Figure 1, answer the five query formulation steps presented in textbook Section 10.4.3. The Event Planning Form supports entry of an event plan in the main form and the details of the event plan in the subform.
The last step of your plan involves queries for the main form and subform. The main form query includes all data above the datasheet. You need to determine the tables to include, the method to combine the tables (join or outer join), and the fields to include.  The sub form query should sort the rows by “Line No.”.  In addition, the subform query should compute the “Amount” field (Resource.Rate * EventPlanLine.number* number of hours).  The number of hours is computed as DateDiff("n", timestart, timeend)/60.  Do not compute the Total Amount field in either the main form query or subform query as Total Amount must be computed in the form.
Here are some additional points about this form:

· The main form should not force the user to enter an employee number for the “Supervisor” field.  If your query is designed properly, the user will not be forced to enter an employee number.
· In the main form, the fields “Customer”, “Event Date”, “Facility”, and “Total Cost” should be read-only.
· In the sub form, the fields “LocName”, “ResName”, “Rate”, and “Amount” should be read-only.
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 Figure 1: Form View of the Event Planning Form

Solution:

Event Planning Form

1. The one-to-many relationship is between EventPlan and EventPlanLine.

2. The linking columns are EventPlan.planno and EventPlanLine.planno.

3. Other tables whose data is displayed on the form are: EventRequest, Customer, and Facility.  Other tables whose data is displayed on the subform are: Resource and Location.

4. EventPlan and EventPlanLine are updatable.  

5. Main form query:

SELECT EventPlan.planno, EventPlan.eventno, EventPlan.workdate, EventPlan.notes, EventPlan.activity, EventPlan.empno, EventRequest.custno, Custname, Customer.address, EventRequest.facno, Facname, EventRequest.dateheld

FROM Facility INNER JOIN 
   ((Customer INNER JOIN EventRequest 
                          ON Customer.custno = EventRequest.custno) 
     INNER JOIN EventPlan ON EventRequest.eventno = EventPlan.eventno ) 
                          ON Facility.facno = EventRequest.facno;

Subform Query:

SELECT EventPlanLine.planno, EventPlanLine.lineno, EventPlanLine.timestart, EventPlanLine.timeend, 

                EventPlanLine.number, EventPlanLine.locno, Location.locname, EventPlanLine.resno, resource.resname, 

                 resource.rate, [rate]*[number]*(DateDiff("n",timestart,timeend)/60) AS amount

FROM resource INNER JOIN 

           (Location INNER JOIN EventPlanLine ON Location.locno = EventPlanLine.locno) 

                                                                           ON resource.resno = EventPlanLine.resno

ORDER BY EventPlanLine.lineno;

Part 2

Work problem 10.26 from textbook chapter 10. Provide an answer to each query formulation step for the Purchase form in textbook Figure 10.P5.
(1) Purchase-PurchLine is the 1-M relationship.  

(2) Purchase.PurchNo and PurchLine.PurchNo are the linking columns. 

(3) In the main form, the Supplier table also appears. In the subform, the Product table also appears.

(4) Purchase in the main form is updatable while PurchLine in the subform is updatable.  The other tables are read-only (Product and Supplier).

(5) In Access, 1-M updatable queries must use the join operator style. In the subform query, the PurchNo column must appear in the result even though it does not appear in the subform because it is the linking column.

Main Form query:

SELECT Purchase.PurchNo, Purchase.PurchDate, Purchase.SuppNo, 

               Purchase.PurchPayMethod, Purchase.PurchDelDate, Supplier.SuppName, 

                Supplier.SuppEmail, Supplier.SuppPhone, Supplier.SuppURL

  FROM Supplier INNER JOIN Purchase ON Supplier.SuppNo = Purchase.SuppNo

Subform query: 
SELECT PurchLine.PurchNo, PurchLine.ProdNo, Product.ProdName, 

                Product.ProdQOH, PurchLine.PurchQty, PurchLine.PurchUnitCost, 

                Product.ProdPrice, PurchUnitCost*PurchQty AS Amount

  FROM Product INNER JOIN PurchLine ON Product.ProdNo = PurchLine.ProdNo

Grading

Use the Send File command to upload your file with your solutions to the five questions (word document or text file) to the digital drop box in the course website. Do not use the Add File command as your file will not appear in my dropbox. Name your file as “LastNameFirstNameA3.doc” where LastName and FirstName are your last and first name respectively.

Most of the weight goes to the ultimate aim: the queries for the main form and subform. Here is a more detailed breakdown of the grading criteria:

· The solutions to step 1 are worth 10 points (5 points each).
· The solutions to step 2 are worth 10 points (5 points each).
· The solutions to step 3 are worth 10 points (5 points each).

· The solutions to step 4 are worth 10 points (5 points each).

· The main form queries are worth 30 points (15 points each).

· The subform queries are worth 30 points (15 points each).
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